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1,375,481 5,346 0.39 4,271 0.31 9,295 0.68 427
1,387,442 11,961 0.87 4,192 0.30 7,067 0.51 702
1,399,276 11,834 0.85 3,956 0.29 7,296 0.53 582
1,411,258 11,982 0.86 3,721 0.27 7,994 0.57 267
1,420,196 8,938 0.63 3,833 0.27 5,030 0.36 75
1,430,862 10,666 0.75 3,561 0.25 7,546 0.53 219
1,439,252 8,390 0.59 3,742 0.26 4,480 0.31 168
1,444,340 5,088 0.35 3,432 0.24 1,547 0.11 109
10 1,447,134 2,794 0.19 3,501 0.24 876 0.06 169
11 1,449,138 2,004 0.14 2,725 0.19 630 0.04 91
12 1,442,795 475 0.03 2,852 0.20 2,337 0.16 40
13 1,440,920 1,875 0.13 2,590 0.18 4,969 0.34 504
14 1,437,611 3,309 0.23 2,149 0.15 5,380 0.37 78
15 1,434,576 3,035 0.21 1,252 0.09 4,212 0.29 75
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0
l |
5,000 10,000 15,000 20,000
586 3.1 750 3.8 164 17.4
2,807 14.9 3,840 19.4 1,033 109.3
12,270 65.1 11,582 58.5 688 72.8
2,420 12.8 2,772 14.0 352 37.2
765 4.1 849 4.3 84 8.9
18,848 100.0 19,793 100.0 945 100.0
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